EARAROBEEIERT — 2 N— IBISH —F

2

0175108148 (£) 9EIEERI1H

AR+ bh—/N—C B2 5% ‘ (%f&] 8 ‘ (R  — |2 (%) 16000 6
[AE4£] 1% :450,000  ~ 23#%&:90,000 M  33&:4500 M  437&:32,000MH .~ 57&:13,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S A S ERRE :39. = . — REEM (KR)
i 3|aAzEQLTY-F o4 e 1(3_9)2 2-2 37.6 3 (4_528) i
R:FaTLHN BT-RUAH—F Ja—J)—77—LA
L 4t 3 | BEIE 1:39.3 1-1 37.8| — 1 419 | ERAE (KiR)
2|8|1|E=F b 54.0 ) e |NEER
L:82—MLERYI B:Hh/aC R TS
=, = 3 | AR 1:39.4 3-3 37.7| — 2 436 | #FR=— (KR
35| IRETATA b g 56.0 (3/4) ) ) T
oy EddyR BOXRETFTATLRbS EvJLy RT7—L4
= 53 B4 | WUABER 1:39.6 4-4 37.8| — 6 421 | #REEAE (BERE)
s s| 773V 54.0 ) ) |IHHER
LNn—ErTy— B:Jy7F—an Y+ A T8
S W NO—7 o5 | HEEE— 1:39.8 10-7 37.4| — 4 458 | /NEEEEAE (EERE)
5|55~ H#—-—/NOg—X Sé.OA (11/2) (+4) EFME
L:Fq—T1>NT ~ B:eERyqLX gilll IE%E
5 Sl s, A INHRiE 1:40. = . = 1 4 1eiEthEl (KGR
N ¢ FARERLVEX R e i M ° (_925) i
R:w>Ny&hTz B:ILTLAY BT 7 — L4
: 4 | SREBE 1:40.1 12-12 37.5| — 12 496 | =FHE@E (KR)
71 2 Lr—XkrKdaa—-Jv 54.0 (3/4) (-5) FHHEFE—ER
LN—ErTvy— B:ovlbvrl—X (B) #BA3—-RKL—va>aE77
S t> 6 | B 1:40.1 7-8 37.9| — 8 477 | EBEHEE (KR)
8|8l12| 1 EITI VY 70| &% e o |EEE
A4 TATv— B:ZXOv ML BpEEUE e
TN . > 5 | HER 1:40.3 5-5 38.5| — 5 493 | fE4 ARl (GKR)
] 4 FyrEFL—2 - 56.0 (11/2) +3) RIBE—
LT RIA VL= Boky bR L FAFAT7— L
S s o4 | WOB— 1:40.5 1-1 37.9 — 7 439 | HEEFE (KiR)
100 10| ¥X¥ ¥ X1 56.0 3/4) s |EEE®
L:7RYfYL—> B:77q4>FAy T [okgse]
R SRR :40. - . — {2 ARBRI (KR
gl 7L7Fra2 %o | B® pos | e e o e | e ren o
R:7—UTr—R BRN—-TU4—> PO b N
5 7 4 3 | BEREE 1:40.9 8-9 38.7| — 11 478 | HRIEZEI (KR)
12011 |~/ 56.0 2 1/2) (1) | AR ’
Riwy&Edyk B:T7ILTIvh AXETa—T7— L
@ 1—F—@&BIEf
13—7—
23—7F—
G§a=7r= 11,3,6,8,4,7,12,1,9,5,10,2
43— — 11,3,6,8,4,7,5,12,1,9,10,2
[ RN
B OB 3 430 714K 3-11 330M e & 3-8 730M &R 3-6-11 1,390H
8 B 3 190M 3-6 450MH B E 3-11 840M JEH 3-11-6 6,280
1" 1404 6-11 520M B H 3-11 1,670M
6 170

ABICOVWTRDTEEERROODE. TR LIV,




